
SECONDARY SCHOOL EXAMINATION - 2020 (ANNUAL)

Mathematics (MODEL SET)

iw.kkZad & 100

Full Marks- 100

Instructions for the candidates :-

1. ijh{kkFkhZ ;FkklaHko vius 'kCnksa esa mÙkj nsaA

Candidates are required to give their answer in their own words as

far as practicable.

2. nkfguh vksj gkf'k;s ij fn;s gq, vad iw.kkZad fufnZ"V djrs gSaA

Figures in the right hand margin indicate full marks.

3. bl iz'u&i= dks /;kuiwoZd i<+us ds fy, 15 feuV dk vfrfjDr le; fn;k x;k gSA

15 minutes of extra time has been allotted for the candidates to read

the question paper carefully.

4. ;g iz'u i= nks [k.Mksa esa gS% [k.M&v ,oa [k.M&cA

This question paper is divided into two sections: Section-A and

Section-B.

5. [k.M&v esa 60 oLrqfu"B iz'u gSaA izR;sd ds fy, 1 vad fu/kkZfjr gS] ftuesa ls fdlh

50 iz'uksa dk mŸkj nsuk vfuok;Z gSA ipkl ls vf/kd iz'uksa ds mŸkj nsus ij izFke 50

dqy iz'uksa dh la[;k = 95
Total number of questions = 95



mŸkjksa dk ewY;kadu fd;k tk;sxkA viuk mŸkj miyC/k djk;s x;s OMR - mŸkj

i=d esa fn;s x;s lgh òŸk dks dkys@uhys ckWy isu ls HkjsaA fdlh Hkh izdkj dk

OgkbVuj@rjy inkFkZ@CysM@uk[kwu vkfn dk mŸkj iqfLrdk esa iz;ksx djuk euk gS]

vU;Fkk ijh{kk ifj.kke vekU; gksxkA

In section-A there are 60 objective type questions (each carrying 1

mark) out of which any 50 questions are to be answered. First 50

answers will be evaluated in case more than 50 questions are

answered. Darken the circle with blue/black ball pen against the

correct option on OMR sheet provided to you. Do not use whitener/

Liquid/Blade/Nail etc. on OMR sheet, otherwise the result will be

invalid.

6. [k.M&c esa 27 y?kq mÙkjh; iz'u gSaA izR;sd ds fy;s 2 vad fu/kkZfjr gS] ftuesa ls

fdUgha 15 iz'uksa dk mÙkj nsuk vfuok;Z gSA blds vfrfjDr bl [k.M esa 08 nh?kZ

mŸkjh; iz'u fn, x, gSa ¼izR;sd ds fy;s 5 vad fu/kkZfjr gS½] ftuesa ls fdUgha 4 iz'uksa

dk mÙkj nsuk gSA

In section-B, there are 27 short answer type questions (each carrying

2 marks), out of which 15 (fifteen) questions are to be answered.

Apart from this, there are 08 long answer type questions (each

carrying 5 marks), out of which any 4 questions are to be answered.



7. fdlh izdkj ds bysDVªkWfud midj.k dk iz;ksx iw.kZr;k oftZr gSA

Use of any electronic appliances is strictly prohibited.

SECTION-A (Objective Type Questions)

[k.M&v ¼oLrqfu"B iz'u½

iz'u la[;k 1 ls 60 rd ds izR;sd iz'u ds lkFk pkj fodYi fn, x, gS] ftuesa ls ,d

lgh gSA fdUgha 50 iz'uksa ds mŸkj nsaA vius }kjk pqus x, lgh fodYi dks OMR 'khV

dkyk djsaA (50 X 1=50)

Questions No. 1 to 60 have four options, out of which only one is correct.

Answer any 50 questions. You have to darken your selected option on

the OMR-sheet. (50 X 1=50)

1- dk n'keyo izlkj gS &

A. vlkar B. lkar
C. vkorhZ D. buesa ls dksbZ ugha

The decimal expansion of      is -

A. Non-terminating B. terminating

C. Repeating D. None of these

2-    gS ,d &

A. ifjes; la[;k B.vifjes; la[;k

C. izkd`r la[;k D. iw.kkZad

    is a/an -

A. Rational Number B.Irrational Number

7
20





7
20



C. Natural Number D. Integer

3- nks la[;kvksa dk e0l0 15 rFkk y0l0 105 gSA ;fn muesa ls ,d la[;k 5 gS rks nwljh

la[;k gS &

HCF of two numbers is 15 and their LCM is 105. If one of the

numbers is 5 then other number is

A. 75 B. 15 C. 315 D.  525

4- fuEufyf[kr esa dkSu vifjes; la[;k gS \

Which of following is an irrational number?

A. B. C. D.

5. fuEufyf[kr esa dkSu f}?kkr lehdj.k gS \

Which of the following is a quadratic equation?

A. x2 + 5  x - 14 = 0 B. 2 x2 = 2 x -

C. x3 + 4x + 4 = 0 D. x +    = 2

6.       dk ljyre :i gS &

The simplest form of           is

(A) (B) (C) (D)

7- fdlh f}?kkr cgqin ds 'kwU;dksa dh vf/kdre la[;k gksrh gS &

The maximum number of zeroes of any quadratic polynomial is.

(A) 4 (B) 3 (C) 2 (D) 1

8. fdlh iw.kkZad    ds fy, fo"ke la[;k dk :i gS &

For some integer     , an odd number is of the form -

(A) (B) (C) (D)

9. fdlh O dsUnz okys o`Ÿk ds ckg~; fcUnq P ls o`Ÿk ij nks Li'kZ js[kk,¡ PR rFkk PS [khaph xbZ

gS] ;fn  lseh0 rks
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(A) 8 lseh0 (B) 4 lseh0 (C) 64 lseh0 (D) 6 lseh0

PR and PS are two tangents drawn from an external point P to a

circle with centre O. If PR = 8 cm, then PS =

(A) 8 cm (B) 4 cm (C) 64 cm (D) 6 cm

10- ;fn ]  vkSj  f=?kkr cgqin ax3 + bx2 + cx + d ds 'kwU;d gksa] rks



If ] and  are the zeroes of the cubic polynomial ax3 + bx2 + cx +

d then 

(A) (B) (C) (D)

11- nks jSf[kd lehdj.kksa ds vkys[k lekUrj js[kk;sa gSa] rc jSf[kd lehdj.k ds ;qXe dk

&

(A) ,d gy gS (B) nks gy gS

(C) vufxur gy gS (D) dksbZ gy ugha gSa

The graphs of two linear equations are parallel lines, then the pair of

linear equations has -

(A) One solution (B) Two solutions

(C) Infinitely many solutions (D) No solution

12- cgqin 2x3 - 5x2 - 14x + 8 ds 'kwU;dksa dk ;ksx gksxk &

The sum of the zeroes of the polynomial 2x3 - 5x2 - 14x + 8 will be

&

(A) (B) (C) (D)

13. lehdj.k 9x2 - 1= 0 ds ewyksa dh izdf̀r D;k gS \

(A) okLrfod vkSj vleku (B) okLrfod ugha

(C) okLrfod vkSj leku (D) buesa ls dksbZ ugha
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What is the nature of roots of the equation 9x2 - 1= 0 ?

(A) Real and Unequal (B) Not Real

(C) Real and equal (D) None of these

14. ;fn ABC rFkk PQR le:i f=Hkqt gSa ftlesa A = 420 rFkk R = 800 rks B =

If ABC and PQR are similar triangles in which   A = 420  and     R = 800

then   B =

(A) 420 (B) 800 (C) 580 (D) 480

15. cgqin  x2 - 5 ds 'kwU;d gSa &

The zeroes of the polynomial x2 - 5 are -

(A) +5, - 5 (B) +  5, - 5 (C) +   5, -   5 (D) -   5, -   5

16. lehdj.k fudk; 3x + ky = 0 rFkk 2x + 5y = 20 ds vf}rh; gy gksus ds fy,

k dk eku gS &

The value of K for which the system of equations 3x + ky = 0,

2x + 5y = 20 has unique solution -

(A) K (B) K

(C) K (D) K

17- fuEufyf[kr esa dkSu lekarj Js<+h gS \

Which of the following is an arithmetic progression ?

(A) 0.3, 0.33, 0.333, .   .   .   .

(B) 1,11, 111, .   .   .   .

(C) 2, 4, 8, 16, .   .    .

(D) 0, - 4, - 8, - 12, .   .   .   .

 
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18. fcUnq ( - 12, - 12) fdl ikn esa gS \

(A) izFke ikn (B) f}rh; ikn

(C) r̀rh; ikn (D) prqFkZ ikn

In which quadrant does the point ( - 12, - 12) lie?

(A) First quadrant (B) Second  quadrant

(C) Third quadrant (D) Fourth quadrant

19. fdlh lekarj Js.kh ds fy, fuEufyf[kr esa dkSu lw= lR; gS \

(A) (B)

(C) (A) rFkk (B) nksuksa (D) buesa ls dksbZ ugha

For any A.P. which of the following formula is true?

(A) (B)

(C) Both (A) and (B) (D) None of these

20. f}?kkr lehdj.k bx2 + ax + c = 0 dk fofoDrj gksxk &

The discriminant of quadratic equation bx2 + ax + c = 0 will be -

(A) (B)

(C) (D)

21. f=Hkqt dk {ks=Qy ¼oxZ bdkbZ esa½ ftlds 'kh"kZ ( - 4, 0 ), ( 0, 3 ) rFkk ( 0, 0 ) gS

The area of the triangle in square units whose vertices are (-4, 0 ),

(0, 3) and (0, 0 ) is -

(A) 6 (B) 1

(C) 36 (D) 12

22. lHkh leckgq f=Hkqt gksrs gSa &

(A) lokZxle (B) le:i

n
2

S
n
 =    {2a + (n - 1) x d} S

n
 =

S
n
 =    {2a + (n - 1) x d}n

2

b2 - 4 ac a2 - 4 bc

b2 - 2 acc2 - 4 ab

n (n + 2)
2

S
n
 = n (n + 2)

2



(C) (A) RkFkk (B) nksukas (D) buesa ls dksbZ ugha

All equilateral triangles are -

(A) Congruent (B) Similar

(C) Both (A) and (B) (D) None of these

23. ;fn cgqin f (x) = x2 - 3x + 5 ds 'kwU;d a vkSj b gksa] rks 4 ( a + b ) =

If a and b are the zeroes of the polynomial f (x) = x2 - 3x + 5 then

4 ( a + b ) =

(A) - 12 (B) 12 (C) 20 (D) - 20

24. lekUrj Js.kh 5] 8] 11] 14] --------- ds izFke 24 inksa dk ;ksx gS &

The sum of first 24 terms of the A.P. 5, 8, 11, 14, ......... is -

(A) 940 (B) 960 (C) 948 (D) 944

25. fcUnq (5, 5) dh nwjh ewy fcUnq ls gksxh &

The distance of the point (5, 5) from the origin will be -

(A) 5 (B) 10 (C) 5  2 (D) 2   5

26. ;fn          esa              lseh0]             lsseh0 rFkk          lseh- rks

C = ?

In               if AB = 13 cm, BC = 12 cm and AC = 5 cm. then   C = ?

(A) 900 (B) 300 (C) 600 (D) 450

27. fcUnq ( 6, 10 ) dh dksfV gS &

The ordinate of the point ( 6, 10 ) is -

(A) 6 (B) 10 (C) - 4 (D) 16

28. nks le:i f=Hkqt dh laxr Hkqtk,¡ 4 % 9 ds vuqikr esa gS] buds {ks=Qy dk vuqikr

gS &

 
ABC AB = 13 BC = 12  AC = 5



ABC 



The ratio of the corresponding sides of two similar triangles is 4 : 9

then the ratio of their areas is -

(A) 4 : 9 (B) 16 : 81 (C) 9 : 4 (D) 81 : 16

29. fcUnq A ( 5, 2 ) vkSj B ( 9, 5 )  ds chp dh nwjh gS &

The distance between the points A (5, 2 ) and B (9, 5 ) is -

(A) 4 (B) 9 (C) 7 (D) 5

30.            esa  DE     BC rFkk             A ;fn           lseh0 rks AE dk

lfUudV eku gksxk

(A) 6.43 lseh0 (B) 5 lseh0 (C) 4.43 lseh0 (D) 7.23 lseh0

In               DE     BC and                       .  If AC = 15 cm. then the

approximate value of AE will be.

(A) 6.43 cm (B) 5 cm (C) 4.43 cm (D) 7.23 cm

31. lekarj Js.kh 4, 9, 14, 19, .............. dk dkSu&lk in 109 gS \

(A) 20 ok¡ (B) 21 ok¡ (C) 23 ok¡ (D) 22 ok¡

Which term of the A.P.   4, 9, 14, 19, .............. is 109 ?

(A) 20th (B) 21th (C) 23th (D) 22th

32. ;fn tan   =       gks] rks sin    dk eku gS

If tan   =      then the value of sin    is

(A) (B) (C) (D)

33.  fcUnq A ( - 7, 5 ) vkSj B ( 4, 2) dks feykus okyh js[kk[k.M ds e/;&fcUnq dk

ABC  AD
DB

= 3
4

AC = 15

ABC,  AD
DB

= 3
4
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fu;ked gS &

The Co-ordinates of the mid-point of the line segment joining the

point A ( - 7,5 ) and B ( 4, 2 ) are

(A) (     ,     ) (B) (     ,     )

(C) (     ,     ) (D) ( 3 , 7 )

34. ;fn lw;Z dh Å¡pkbZ 600 gS] rc 30 ehVj dh yEch Nk;k dks cukus okyh mnxz

ehukj dh Å¡pkbZ gS &

(A)     eh0 (B) (C) 30  3 eh0 (D) 15 eh0

If the height of the sun is 600 then the height of the vertical tower

making the 30 m long shadow is -

(A)    m (B) 15  3 m (C) 30  3 m (D)  15 m

35. nks [kaHks ftudh Å¡pkb;k¡ 6 eh0 vkSj 11 eh0 gSa] lery Hkwfe ij [kM+s gSaA ;fn [kaHkksa

ds iknksa ds chp dh nwjh 12 eh0 gS rks buds Åijh fljksa ds chp dh nwjh gS &

(A) 17 eh0 (B) 18 eh0 (C) 13 eh0 (D) 12 eh0

Two poles of height 6 m and 11 m stand on a plane ground. It the

distance between the feet of the poles is 12 m, then the distance

between their tops is -

(A) 17 m (B) 18 m (C) 13 m (D) 12 m

36. nks o`Ÿkksa ds {ks=Qyksa dk vuqikr 9 % 1 gS rc mudh f=T;kvksa dk vuqikr gS &

The ratio of the areas of two circles is 9 : 1, then the ratio of their

radii is -

(A) 3 : 1 (B) 9 : 1 (C)  (D) 1 : 9

3
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 



37. 4, 2, 5, 2, 0, 3, 2, 3 dk cgqyd gS &

The mode of 4, 2, 5, 2, 0, 3, 2, 3 is -

(A) 3 (B) 2 (C) 5 (D) 4

38. ;fn ,d ?kukHk dh yEckbZ] pkSM+kbZ rFkk Å¡pkbZ Øe'k% 15 lseh0] 12 lseh0 rFkk

4-5 lseh0 gS rks bldk vk;ru gS &

(A) 805 lseh03 (B) 810 lseh03

(C) 243 lseh03 (D) 604 lseh03

If the length, breadth and height of a cuboid are 15 cm, 12 cm and

4.5 cm respectively then its volume is -

(A) 805 cm3 (B) 810 cm3

(C) 243 cm3 (D) 604 cm3

39. dks.k    okys f=T;[kaM dk {ks=Qy gksxk &

The area of a sector of angle     will be -

(A)        X       r2 (B)      X 2     r

(C)        X 2    r2 (D)          X 2    r

40. ( 1 - sin A ) ( 1 - sin A ) =

(A) sin2A (B) Cos2A

(C) - Cos2A (D) - sin2A

41. oxZ & varjky 110&130 dk oxZ&fpg~u gS &

The Class mark of the class interval 110 - 130 is -

(A) 110 (B) 130 (C) 240 (D) 120





 

















42.             dk eku gksxk &

The value of                        will be -

(A) 1 (B) 0 (C) - 1 (D)

43. ,d iklk Qsadus ij ,d le la[;k vkus dh izkf;drk gS &

In a throw of a die, the probability of getting an even number is -

(A) (B) (C) (D)

44. nh xbZ vkdf̀r esa   AOB =1150 rks     APB =

In the given figure     AOB =1150 then    APB =

(A) 1150 (B) 650 (C) 350 (D) 57.50

45. 5 sec2A - 5 tan2A = ?

(A) 5 (B) 0 (C) 1 (D) 6

46. ,d fuf'pr ?kVuk dh izkf;drk gksrh gS &

The probability of a sure event is -

(A) 0 (B) 2 (C) -1 (D) 1

47. fuEufyf[kr esa dkSu cos 300 ds cjkcj gS \

tan 570

cot 330

tan 570

cot 330

1
2

1
3

1
2

5
6

2
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Which of the following is equal to cos 300 ?

(A) cos 450 (B) sin 600

(C) tan 300 (D) cos 600

48. fuEufyf[kr esa dkSu dsUnzh; izo`fŸk dh eki ugha gS \

(A) cgqyd (B) ek/;d

(C) ekud fopyu (D) ek/;

Which of the following is not a measure of Central tendency?

(A) Mode (B) Median

(C) Standard deviation (D) Mean

49. sin2  X Cosec  =  ?

(A) sin (B) cosec (C) 0 (D) 1

50. nks izfrPNsnh òŸkksa dh mHk;fu"B Li'kZ js[kkvksa dh la[;k gS &

(A) 3 (B) 2 (C) 1 (D) vufxur

The number of common tangent lines of two intersecting circles is -

(A) 3 (B) 2 (C) 1 (D) Infinite

51. ;fn  =   = 450 rks sin (  +  ) dk eku gksxk &

If  =   = 450  then the value of sin (  +  ) will be -

(A) (B)  1 (C)  0 (D)

52. fn, x, vkd`fr esa x dk eku gksxk &

(A) 10 ls0eh0 (B) 16 ls0eh0 (C) 6 ls0eh0 (D) 20 ls0eh0

The value of x in the given figure will be -

1
2

1
2



(A) 10 cm (B) 16 cm

(C) 6 cm (D) 20 cm

53. ,d 'kadq ds vk/kkj dk O;kl 10 ls0eh0 vkSj bldh Å¡pkbZ 12 ls0eh0 gS] rks 'kadq dk

vk;ru gS &

(A) 400 lseh03 (B) 300 lseh03

(C) 200 lseh03 (D) 100 lseh03

The diameter of the base of a cone is 10 cm and its height is 12

cm, then the volume of the cone is -

(A) 400  cm3 (B) 300  cm3

(C) 200  cm3 (D) 100  cm3

54. ;fn oxZ dk fod.kZ 16  2 lseh0 gS] rks oxZ dh Hkqtk dh yackbZ gksxh &

(A) 16 cm (B) 4 cm

(C) 4   2 cm (D) 256 cm

If the diagonal of a square is 162 cm then the length of the side

of the square will be -





20
 cm

XPQ

B 10 cm 6 cmR C
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(A) 16 cm (B) 4 cm

(C) 4   2 cm (D) 256 cm

55. ;fn sin P = sin Q rFkk P vkSj Q U;wu dks.k gks rks &

(A) P =Q (B) P > Q

(C) P < Q (D) buesa dksbZ ugha

If sin P = sin Q and P and Q are acute angles , then.

(A) P =Q (B) P > Q

(C) P < Q (D) None of these

56. r f=T;k rFkk h Å¡pkbZ okys csyu ds oØi`"B dk {ks=Qy ¼oxZ bdkbZ esa½ gksxk &

The curved surface area (in sq. unit) of cylinder of radius r and

height h is -

(A) rh (B) rh

(C) rh (D) r2h

57. 14 lseh0 O;kl okys ,d v)Zxksys dk dqy ì"Bh; {ks=Qy gksxk &

(A) 147 lseh02 (B) 198 lseh02

(C) 488 lseh02 (D) 396 lseh02

The total surface area of a hemisphere of diameter 14 cm is -

(A) 147  cm2 (B) 198  cm2

(C) 488  cm2 (D) 396  cm2

58. cos (900 - A) =

(A) cos A (B) sin A

(C) - cos A (D) - sin A

59. fn, x,      esa   =

In the given



PQR  QR
 PQ

PQR,  QR
 PQ

 =



(A) tan  (B) cot 

(C) sin  (D) sec 

60. 0 . 4 7 =

(A) (B) (C) (D)43
90
43
90

47
90

43
99

47
99
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RQ

900

 (



[k.M&c

SECTION - B

¼xSj oLrqfu"B iz'u½

(Non Objective Type Questions)

 Yk?kq mŸkjh; iz'u

Short Answer Type Questions.

15x2=30 

Question Nos. 1 to 27 are short answer type. Answer any 15

questions. Each question carries 2 marks. (15x2=30 )

1- fcuk yEch foHkktu izfØ;k fd, crkb, fd fn;k x;k ifjes; la[;k    dk n'keyo

izlkj lkar ;k vlkar vkorhZ gSA

Without actually performing the long division, state whether the

rational number      will have a terminating decimal expansion or

non-terminating repeating decimal expansion.

2- ;fn cgqin x2 - x - (2k + 2) dk ,d 'kwU;d x = - 4 gks] rks k dk eku Kkr djsaA

If x = - 4 is a zero of the polynomial  x2 - x - (2k + 2), then find the

value of K.

3- 192 dks vHkkT; xq.ku[k.Mksa ds xq.kuQy ds :i esa O;Dr dhft,A

Express 192 as a product of its prime factors.

4- f}?kkr lehdj.k 100x2 - 20 x + 1 = 0 ds ewy Kkr dhft,A

Find the roots of the quadratic equation 100x2 - 20 x + 1 = 0 .

5. lekarj Js.kh ds izFke pkj in fyf[k, tcfd izFke in a = 4 vkSj lkoZ&varj

d = - 3

17
 8

17
 8



Write first four terms of the A.P when first term a = 4 and

common difference d = - 3.

6. fl) dhft, fd 2 ,d vifjes; la[;k gSA

Prove that 2 is an irrational number.

7. fuEufyf[kr jSf[kd lehdj.k ;qXe dks gy djsa &

Solve the following pair of linear equations -

x + y = 8 , x - y = 6.

8. ;wfDyM foHkktu ,YxksfjFe dk iz;ksx dj 135 rFkk 225 dk e0l0 fudkysaA

Using Euclid's division algorithm, find the H.C.F of 135 and 225.

9. 2x2 + 3x + 1 dks x + 2 ls Hkkx nhft,A

Divide 2x2 + 3x + 1 by x + 2.

10. ;fn fdlh lekarj Js.kh dk izFke in 5] lkoZvarj 4 vkSj vafre in 205 gks] rks

lekarj J.kh ds inksa dh la[;k Kkr dhft,A

If the first term of an A.P is 5, the common difference is 4 and

last term is 205, find the number of terms of the A.P.

11. ,d f}?kkr cgqin Kkr dhft, ftlds 'kwU;d 8 vkSj -16 gSA

Find a quadratic polynomial whose zeroes are 8 and -16.

12. x ds eku Kkr dhft, ftlds fy, fcUnq A (-3, 2) rFkk B (x, 6) ds chp dh nwjh

25 bdkbZ gSA

Find the values of x for which the distance between the points

A (-3, 2) and B (x, 6) is 25 units.

13. fdlh         esa nks fcUnq D rFkk E Øe'k% Hkqtkvksa AB rFkk AC ij bl izdkj gaS

fd BD = CE rFkk B = C, rks fl) dhft, fd DEBC

In any           two points D and E are on the sides AB and AC

ABC

ABC,



respectively such that BD = CE and   B =   C then prove that

DE   BC.

14. ml fcanq ds funsZ'kkad Kkr dhft, tks fcUnqvk sa  A (2, 3 ) vkSj  B ( 4, 5 )] dks

feykus okys js[kk[k.M dks 2 % 3 ds vuqikr esa foHkkftr djrk gSA

Find the co-ordinates of the point which divides the line segment

joining the points A ( 2, 3 ) and B ( 4, 5 ) in the ratio 2 : 3.

15. ,d f=Hkqt ABD esa A ledks.k rFkk AC BD tgk¡ C, BD ij gS] rks fl) djsa

fd AC2 = BC . DC.

In ABD,A  is right angle and  AC BD where C lies on BD then

prove that AC2 = BC . DC.

16. ;fn 15 cot = 8 rks fl) djsa fd cos =     

If 15 cot = 8 then prove that cos =     .

17. ;fn ,d v)Zo`Ÿkkdkj [ksr dk O;kl 14 lseh0 gks] rks mldk {ks=Qy Kkr dhft,A

If the diameter of a semicircular field is 14 cm then find its area.

18. ,d fcUnq Q ls ,d o`r ij Li'kZ js[kk dh yEckbZ 24 lseh0 rFkk Q  dh dsUnz ls nwjh

25 lseh0 gS] rks òŸk dh f=T;k Kkr djsaA -

From a point Q the length of tangent to a circle is 24 cm and

distance of Q from centre is 25 cm. Find the radius of the circle.

19. fl) djas fd

Prove that

20. 21 lseh0 f=T;k okys o`r dk ,d pki dsUnz ij 600 dk dks.k varfjr djrk gS] rks

 

8
17

8
17

1 + cosA
1 - cos A

1 + cosA
   sinA=



pki dh yEckbZ Kkr djsaA

In a circle of radius 21 cm, an arc subtends an angle of 600 at the

centre then find the length of the arc.

21. dk eku Kkr dhft,A

Find the value of                        .

22. fuEufyf[kr vk¡dM+s dk cgqyd Kkr djsa &

izkIrkad 0&20 20&40  40&60  60&80  80&100

Nk=ksa dh la[;k   5   6        16    12 11

Find the mode of the following data.

Marks obtained 0-20 20-40  40-60  60-80  80-100

No. of students     5     6       16       12  11

23. ;fn A, B vkSj C, ABC ds var% dks.k gks] rks lkfcr dhft, fd

cos (         )= sin     .

If A, B, and C are interior angles of a ABC then show that

cos (         )= sin    .

24. vPNh izdkj ls QsVh xbZ 52 iŸkksa dh ,d xìh esa ls ,d iŸkk fudkyk tkrk gSA yky

jax dk ckn'kkg izkIr djus dh izkf;drk Kkr djsaA

One card is drawn from a well-shuffled deck of 52 cards. Find

the probability of getting a king of red colour.

25. fuEufyf[kr vk¡dM+s dk ek/; 18.75 gS] rk s K dk eku Kkr djsaA

The mean of the following data is 18.75 then find the value of K.

x
i

10 15 k 25 30

f
i

5 10 7 8 2

26. f}?kkrh; cgqin 12x2 - 203x + 25  ds 'kwU;d Kkr djasA

Find the zeroes of the quadratic polynomial 12x2 - 203x + 25.

27. eku fudkysaA

sin2300 + tan2450

sec2300 + cot2450

sin2300 + tan2450

sec2300 + cot2450

C
 2

 A + B
     2

 A + B
     2

C
 2



Find the Value.

3 sin2300 + 4 cos2450 + 3 tan2300 - 6 cos2600

Long answer type questions

(4x5=20)

Q. No. 28 to 35 are long answer type questions. Answer any

four questions. Each question carries 5 marks. (4x5=20)

28. ,d eksVj oksV] ftldh fLFkj ty esa pky 18 fdeh0@?kaVk gS] 24 fdeh0 /kkjk ds

izfrdwy tkus esa] ogh nwjh /kkjk ds vuqdwy tkus dh vis{kk 1 ?kaVk vf/kd ysrh gSA

/kkjk dh pky Kkr dhft,A

A motor boat whose speed is 18 km/h in still water, takes 1 hour

more to go 24 km upstream than to return downstream to the

same distance. Find the speed of the stream.

29. vkys[kh; fof/k ls gy djsa &

Solve graphically -

2x - 2y - 2 = 0, 2x + y - 6 = 0

30. fl) djsa fd ,d ledks.k f=Hkqt eas d.kZ dk oxZ 'ks"k nks Hkqtkvksa ds oxksZa ds ;ksx ds

cjkcj gksrk gSA

Prove that in a right triangle, the square of the hypotenuse is

equal to the sum of the squares of the other sides.

31. ,d leprqHkqZt dk {ks=Qy Kkr dhft, ftlds 'kh"kZ blh Øe e as (3, 0) , (4, 5),

(-1, 4)  vkSj (-2, -1) gSaA



Find the area of a rhombus whose vertices are (3, 0) , (4, 5),

(-1, 4) and  (-2, -1) taken in order.

32. fl) djsa fd &

Prove that -

(sin4A - cos4A + 1) cosec2A =  2

33. ,d Bksl ftlesa 120 lseh0 Å¡pkbZ vkSj 60 lseh0 f=T;k okyk ,d 'kadq lfEefyr gS]

tks 60 lseh0 f=T;k okys ,d v)Zxksys ij vkjksfir gSA bl Bksl dks ikuh ls Hkjs gq,

,d yac o`Ÿkh; csyu esa bl izdkj lh/kk Mky fn;k tkrk gS fd ;g csyu dh ryh

dks Li'kZ djsA ;fn csyu dh f=T;k 60 lseh0 gS rFkk Å¡pkbZ 180 lseh0 gS rks csyu

esa 'ks"k cps ikuh dk vk;ru Kkr dhft,A

A solid consisting of a right circular cone of height 120 cm. and

radius 60 cm. standing on a hemisphere of radius 60 cm. is placed

upright in a right circular cylinder full of water such that it touches

the bottom of cylinder. Find the volume of water left in the

cylinder, if the radius of the cylinder is 60 cm. and its height is180

cm.

34. ,d Å/okZ/kj >aMk LrEHk rFkk ,d 50 ehVj Å¡ph ehukj ,d gh {kSfrt ry ij fLFkr

gSA ehukj ds 'kh"kZ ls LrEHk ds Åij rFkk fupys fljs ds voueu dks.k Øe'k% 300

rFkk 450 gSa] rks >aMk LrEHk dh Å¡pkbZ Kkr djsaA

A vertical flag rod and a 50 metre high tower are situated at same

horizontal ground. The angles of depression of the top of the

tower from top and foot of the flag rod are 300 and 450 respectively.

Find the height of the flag rod.



35. 7-6 lseh0 yack ,d js[kk[kaM [khafp, vkSj bls 5 % 8 vuqikr esa foHkkftr dhft,A

nksuksa Hkkxksa dks ekfi,A

Draw a line segment of length 7.6 cm and divide it in the ratio

5 : 8 . Measure both parts.


